SN BEsEN
A FEMY S LsHLSI T /LEE)
=2l NAZEAR dED82= (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
2 6,949,966 8,494,589 A1,544,623
= 175,295
== 6,774,671
F24Y S ZeH L33 Y/LLET) 6,893,943 8,442,550 1,548,607
= 175,295
= 6,718,648
AAMEE A dE0(et= 1,494,374 2,303,958 809,584
= 175,295
=S 1,319,079
JESAEAE A & AT E RS 8,730 9,700 A970
201 er2 3| 5,730 5,700 30
01 At2t2ltl 5,730 5,700 30
T 323Rls 29 S 5,730
202 04dl 3,000 4,000 21,000
01 2L AL 3,000 4,000 21,000
Oz & ge=a 3,000
CISAIRID] 23 387,287 750,000 A362,713
405 AtatE = 387,287 750,000 A362,713
01 Tt ESF=H 387,287 750,000 A362,713
OCHISARID| 25 387,287
HEANRE AZEQNH 22 404,679 368,013 36,666
201 Ler23 | 404,679 368,013 36,666
01 At2teltl 404,679 368,013 36,666
OYIAMNRE 2ZE0 2 404,679
s=EASEEHed 2SN 161,124 151,101 10,023
201 er2 3| 161,124 151,101 10,023
02 S3=gHl 161,124 151,101 10,023
Ost=XHd2ea ANE: IIEE=s 161,124
FE2FHAAHS S1PC X2 38,540 42,000 A3,460
201 =3 38,540 42,000 A3,460
01 At22t2l] 38,540 42,000 23,460
osm=g & 294l 38,540
HESAEXRID| XNA(21) 308,334 330,404 A22,070
= 154,167
== 154,167
201 Ler=23| 2,000 2,000 0
= 1,000
< 1,000
01 AtR2t2|HI 2,000 2,000 0
OEIIRAHE tA=E 2,000
= 1,000
= 1,000
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= 1,365
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301 EetE NS 303,604 325,674 A22,070
= 151,802
= 151,802
01 AR 2EHSHS(RNEXRTH) 301,604 323,674 A22,070
OFEEBSUEXRID| B2 301,604
= 150,802
s 150,802
14 DBt 2 a3 2,000 2,000 0
odsded g=t| 2,000
= 1,000
= 1,000
ZoHel FEstns X (212) 42,256 84,648 N42,392
= 21,128
S 21,128
201 er23 | 256 200 56
= 128
s 128
01 A2l 256 200 56
OFEUsI |2 88 A" & 23| 256
= 128
< 128
307 @120l & 42,000 84,096 N42,096
= 21,000
= 21,000
02 LB HANHEE 42,000 84,09 N42,096
OZEstuII|2 X 42,000
= 21,000
=S 21,000
CIXg da2st W(2HEEXR) 57,700 131,000 AT73,300
201 Ler=23 | 57,700 131,000 AT73,300
01 AtR2te|HI 57,700 131,000 AT73,300
OtINg agdst s =8 57,700
ZEE dNaHe HEHE =4 85,724 112,500 ND6,776
308 AtAIEHMSOIE 85,724 112,500 ND6,776
01 X SHHBAEXS 85,724 112,500 NP6, 776
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OFEANAY SERAES 808,005
O2ctRE I8t 2HtE HAM |X2cl 43,500
odzEZE KXl 38,070
202 04| 3,370 4,000 AB30
01 2L AL 3,370 4,000 AB30
OHYHEE HR=a 3,370
308 AHXIHMSOIA 398,440 318,958 79,482
183 SIS0t 4R A AL S| 398,440 318,958 79,482
O=-Lict 22 € 2EXA 89,940
OZ37I8t & Mal=TFAIAE =R 2 301,500
OXLHYSEHDAIAE ALHHH 22 7,000
405 KHAHF SH] 55,000 55,000
01 ML ESFH SHI 55,000 55,000
OSEYUAAAE B2 B4 55,000
T& SHOIX 29 & AHIA I 63,000 160,000 /97,000
201 =3 61,500 157,000 95,500
01 A2t 15,000 0 15,000
QWA 278 20l A 15,000
02 3224l 46,500 157,000 110,500
OZHOIXl 2& 2el 46,500
202 04| 1,500 3,000 A1,500
01 2L AL 1,500 3,000 1,500
OZHOIX =28 g2 =4 1,500
FEAAEAY 2 45,000 44,300 700
201 =3 45,000 44,300 700
01 AtS2t2ltl 45,000 0 45,000
OFEEANAHEA 2UHAIE =X2cl 45,000
SOI0IE e & 883t & 4,000 6,500 A2,500
201 L2 2,500 5,000 A2,500
01 AtR2telb] 2,500 5,000 2,500
OSSUOIH && & 245 us S 2,500
202 04| 1,500 1,500
01 2L AL 1,500 1,500
OSEU0IH Y & ols88st =4 1,500
BESIIB 2= 1,292,484 1,337,837 N45,353
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A FEMY SN LsH(LSI T /LLE)
el ESAIE 75 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 2LHoIH 3,000 3,000 0
OFEEANTAY DAY XX 3,000
A |SAIEE| AR =8 4,000 4,000
202 04dl 4,000 4,000
01 =LHOHI 4,000 4,000
OXIEIISAILH QAR =2 4,000
Y SHAIAE d5 e 209,400 950,000 AT740,600
405 AtatE = 209,400 950,000 AT740,600
01 Tt =S F=HI 209,400 950,000 AT740,600
L= UERAIEH WA 189,400
Ook= g=2gs)! uA 20,000
NHAXES HUHEA 2HEHZ JI2He X2AS (S0t 140,000 140,000 0
AETH)
308 AXIMSOIA 140,000 140,000
18 SIS0t HAS A 140,000 140,000
OTWSE Ol=ct FUHE SESHAIAE e 140,000
aFEI|B A5 610,500 328,000 282,500
AOIEESAIMHIA 29 410,500 328,000 82,500
201 2= 349,100 328,000 21,100
01 At22t2l] 345,100 0 345,100
OADIENHIA 2EAAE SE 345,100
02 S5=g4l 4,000 328,000 A\324,000
OADIEZRE SEXN2MH UPS SHX WA
s 22SH| 4,000
308 AtXIEMSOIE 61,400 0 61,400
183 S| 2SS HASAIE 61,400 0 61,400
OFQIESAIIEAE FAE 24 - 8ot 61,400
AlDIEE AFE RDIZIX & EAHNE ASAIY(S0HAE 200,000 0 200,000
=)
308 XtXIEMSO0IE 200,000 0 200,000
13 SIS0t 4 A A A 200,000 0 200,000
OAID|EE &t RD|IZA & SM0lY &S 200,000
HM2ALH(HESSAE M) (JIEHIIE}) 56,023 52,039 3,964
=238l 56,023 52,039 3,984
FAN2Z Jl=3Hl 56,023 52,039 3,984
201 fer=3| 40,963 38,313 2,650
01 At22t2l] 40,963 38,313 2,650
FN2E AIR2te/| 40,963
202 04l 10,260 8,926 1,334
01 2LHoIH 10,260 8,926 1,334
OFAMEE =0 10,260
203 AHR=H| 4,800 4,800 0
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